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01 A& HI 145,920 150,000 24,080
ONdEE EXMNY 145,920

72,960
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70,000 0 70,000
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EURLY

401 AIEHIZ 2 I 70,000 0 70,000
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01 A€ HI 70,000 0 70,000

Ondsen 3= HEIH 70,000
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EX: S3t22 =10
M 23
@2 SN2 (cho &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
stele] MBI BExAEY 162,000 0 162,000
== 81,000
= 81,000
401 AIEHIZL 201 Y| 162,000 0 162,000
o= 81,000
= 81,000
01 Al&H| 162,000 0 162,000
ostelel ZMNEIF AR & A2t B 162,000
& 81,000
= 81,000
S22 BIMDIOF E=AS 8,000 0 8,000
401 AlEHIZL £ 0HY| 8,000 0 8,000
01 Al&H| 8,000 0 8,000
ONd=scl M 0lY D] 8,000
COHANSY BLFH ALY 82,000 0 82,000
= 41,000
= 41,000
401 Al HI L £ 0HHI 82,000 0 82,000
= 41,000
= 41,000
01 Al& H| 82,000 0 82,000
OEHNA SM B A 82,000
& 41,000
= 41,000
FAHM Ex-HHAMY 76,000 0 76,000
== 38,000
= 38,000
401 AlEHIZ 201 Y| 76,000 0 76,000
= 38,000
= 38,000
01 Al&H| 76,000 0 76,000
OS99 AM 2 A 76,000
= 38,000
= 38,000
ASHEZAEX Ex-HUAY 50,000 0 50,000
= 25,000
= 25,000
401 AlEHIZL 2 0HY| 50,000 0 50,000
= 25,000
= 25,000
01 Al& H| 50,000 0 50,000
OASHIEZELEX =23 ©& I 50,000
= 25,000
= 25,000




A 2322
M 2N
@2 SXNE23M (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
2ot =8 Sa4HH JIEe &4 20,000 16,000 4,000
< 6,000
s 14,000
207 Ao &y 20,000 16,000 4,000
< 6,000
s 14,000
01 A2 ESHI 20,000 16,000 4,000
OFstMH=HELAHH J|Eot 2d 20,000
< 6,000
= 14,000
SAA AU E FH| 100,000 0 100,000
< 50,000
e 50,000
401 Al Bl 28I 100,000 0 100,000
< 50,000
i 50,000
01 A& HI 100,000 0 100,000
O=2&A HIHY QATH 2= 100,000
< 50,000
s 50,000
SEEM BE 290,200 309, 300 219,100
= 94,000
< 10,080
[ia 186,120
P2 MAA 53,000 53,000 0
307 21201 A 53,000 53,000 0
03 QI HE2IHE X 53,000 53,000 0
ORYIIIMEsUEH(DE2ZH) 2222
X& 40,000
ORERsMAESUEA(DEsR) 222g X
2 13,000
LEIFM XNE(Bx) 84,000 100,000 A 16,000
= 33,600
< 10,080
s 40,320
307 21201 A 84,000 100,000 A 16,000
= 33,600
< 10,080
e 40,320
02 HIAFAAFEX 84,000 100,000 216,000
OFREEM dusa 483 A 84,000
OEUI EO. LS00 2ACH(2E22) 84,000
= 33,600
< 10,080
[ia 40,320
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M 2N
& RFEI2IM EE (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
M Z s 105,000 107,500 A 2,500
= 42,000
s 63,000
307 gl2tol & 105,000 107,500 A 2,500
= 42,000
s 63,000
02 It HAHE L 105,000 107,500 A 2,500
O MM Z3HTH AL 105,000
Oz L=0IE MRACH ! 4 105,000
= 42,000
s 63,000
S2AKH 11,400 11,400 0
307 Qi2tol & 11,400 11,400 0
02 It S AIHE L 2,000 2,000 0
OZEMA SAMXA 2,000
03 QIAHMNHE2IHIEE 9,400 9,400 0
ON&s D 2AX 9,400
240t & H= AR - S 2EAY 36,800 37,400 A 600
= 18,400
[ia 18,400
307 21201 A 36,800 37,400 A 600
= 18,400
e 18,400
02 B AAHEX 36,800 37,400 A 600
OO0l & #l= AR - &1 ESAMY 36,800
= 18,400
s 18,400
HdEANE BEEFU 582,400 600,000 A 17,600
= 291,200
< 144,560
s 146,640
oA ETHIAEY 3,200 400,000 A 396,800
= 1,600
= 480
s 1,120
401 Al HI & 2 08I 3,200 0 3,200
= 1,600
< 480
i 1,120
01 A& HI 3,200 0 3,200
OFOIAL HTHAIAE R E 2 3,200
= 1,600
< 480
s 1,120
=Y EFUALY 7,200 0 7,200
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3,600
1,080
2,520

Mo

401 AIEHIZ 2 THHI 7,200 0 7,200
3,600

1,080
2,520

A

01 A& dl 7,200 0 7,200
O2+ ZMAIAE R X E+H| 7,200
3,600

1,080
2,520

HH A

SEA E=FHHIALY 402,000 0 402,000
201,000

100,500
100,500

U AT

402 212t X201 & 402,000 0 402,000
201,000

100,500
100,500

U AT
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>
e
Ho
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402,000 0 402,000
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©
0
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0
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170,000 200,000 /30,000
85,000
42,500
42,500

MW

402 BI2FX=01 M 170,000 200,000 230,000
85,000
42,500
42,500

MW

01 2= AEEx 170,000 200,000 A30,000
O2EAMN SMAIAHE F=H| 170,000
85,000

42,500
42,500

U RN

& 3t 2t 2l 68,043 48,383 19,660
3,440
1,032

63,571

M

HO

St 2t el 61,163
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101 14l

15,603
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15,603
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2A: 222 s
M. 23
¢ 2ax2el (cho &)
5 - 4
SAH-EB. S (3H) - HEAY - BE2 0 AF o il HDS2
201 Bt A | 23,260 11,480 11,780
01 AP 2t 2l Yl 13,860 10,080 3,780
O Yet+=gH| 6,300
O=stze 228 7Y
100, 000 & *4 0 A~ x 128 4,800
OR3&MYIXl HIE(a3) §) ¢ 1,500
ozg9+¢Y 7,560
O=2stMe& NEaY
70,0003 *3H 33| 123 7,560
02 53294l 9,400 1,400 8,000
0332=2 % HA 9,400
O2stael &3 100,000& = 12& 1,200
O =3 NG
200,000& *13] 200
OJtor2std N9ed AlE . 2823 HI
i 8,000,000& x13] 8,000
202 04 b 2,000 1,000 1,000
01 2LHOHI 2,000 1,000 1,000
O23MER=E =AY 2,000
203 AR Z= Yl 1,000 1,000 0
03 Al =X H R =X Y| 1,000 1,000 0
O MA2IZRFX 20,000& *10H 53] 1,000
206 M =8l 1,000 1,000 0
01 2l 1,000 1,000 0
OFAHIIEE B Mz 7Y 1,000
301 dEtE A= 18,300 18,300 0
11 IIEtE A2 18,300 18,300 0
Ot Fo&elol B4
100, 000& * 130 A = 12& 15,600
OFAHIEE(S2)E2Y 242
90,000& %303l 2,700
= MEE 2L A 6,880 0 6,880
2 3,440
& 1,032
= 2,408
101 @121 6,880 0 6,880
2 3,440
& 1,032
= 2,408
04 JI2ZtH 22 XNHEE =+ 6,880 0 6,880
ONY ASH=ZEXNS oF & SHHAY 6,880
= 3,440
< 1,032




AN 22Z ML
BH: 25
& 23 2el (&)
SA - BB B () - MM - BES Ol &t o San HmEET
| | o 2,408
gE s 29 163,984 141,930 22,054
geisa 29 163,984 141,930 22,054
101 @124l 25,984 22,430 3,554
04 JIZHHZ2Z2XNHESE S+ 25,984 22,430 3,554
gt AR (Alg2el, iiE) 25,117
OPIE--= 48,240 x2H » 160 15,437
ORrssgs¥ 48,2403 x2H 27 2,605
Osg2=fsE 48,2403 *1.5x2H 30 4,342
4 =2E 2,733
— U3 EE= 22,384,000 x4.5% 1,008
—MHEEZ 22,384,000& %3. 1% 694
—ZUHLEES 22,384,000& x3. 1% 694
—dJRAEEE 694,000 *6.5% 46
—1N888= 22,384,000& x1.3% 291
OTWST FTHAHY U HMEX
86,6803 x2H x53] 867
201 L2l 75,200 76,700 A 1,500
01 At 2t 2l 14,400 14,900 A 500
OgBt+=&H| 14,400
Oogg=sa sASX 72
20,0003 59t A x6E 600
ogasa EWTY 150, 000& *63l 900
Ooges2 22 A 300& 10,0008 3,000
Oggsa A5 228 WA
1,000, 0008 x2& 2,000
Ogersa Z232%4l 1,500,000& +23] 3,000
Ogasa 294228 2 200,000&+12& 2,400
OYEE AEBIHE =8
10,000,000& *0.5*0.5 2,500
02 2324l 40,800 41,800 A 1,000
oO0zE2= % HA 19,200
CEUESHEEZERHURST S
100,000& =122 1,200
O&EI, A Mot AME2 ,Hees
1,500,000& =122 18,000
ozdg=+¢ 1,400
Oges2U2IAYIE A=Y
70,000& »10E »23] 1,400
O A& &EHlS X bl 17,200
Oggsa dIIAEFEZE  150,000& =128 1,800
OEtt=a SoFHIAIAH 2teldl
200,000& = 12& 2,400
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EX: S3t22 =10
M 23
ool 22y 2y CREED
_ RE]
S4B -G (3 ] gﬁ‘&i HR=2
OAg4&y 4 & 250,000 x12& 3,000
O&AEW Al EH| 500,000& *43| 2,000
o=z g5 8,000,000 x 14! 8,000
OEEE2 XHA2 ALY 3,000
Os"g =2 3,000
03 Al H| 20,000 20,000 0
OS<E Al 20,000
O™ A& A} 10,000
O S O & At 10,000
206 M = Hl 4,800 4,800 0
01 M =4l 4,800 4,800 0
oO+ZD BEY
400,000& x12& 4,800
301 et A= 18,000 18,000 0
11 J|EtE A= 18,000 18,000 0
onNdeeE=2 1,500,000 x12& 18,000
401 AlEHIZL 2 0HY| 30,000 20,000 10,000
01 Al&H| 30,000 20,000 10,000
O&AlIA ABZ A} 30,000
405 XHAHFEIEHI 10,000 0 10,000
01 AL EBFHEH 10,000 0 10,000
O&AIE 7Y 500,000 *x20& 10,000
XNEHXNE23 M 71,000 71,000 0
NEUHXNE S3 A 71,000 71,000 0
401 Al HI L £ 0HHI 71,000 71,000 0
01 Al& H| 70,000 70,000 0
OX&A - HAA=23 M HH| 70,000
03 AlE 201 Y| 1,000 1,000 0
OAI& 20| 1,000
= 5,892,207 5,359,721 532,486
N 507,000
J| 127,830
= 27,358
= 5,230,019
M AL S X 1,338,500 1,526,600 A 188,100
& 14,000
= 1,324,500
HEs2dsXd 19,000 19,000 0
201 LBt 4,000 4,000 0
01 AP 22| H| 4,000 4,000 0
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2N

PSP ﬂl%&%
ol MSSHAMLSMA A (cho &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
307 212t01 & 6,500 6,500 0
02 DIZtZAAMEE X 6,500 6,500 0
O2EME SEHBSSAA 6,500
Hd=2HAE 4 9,000 9,000 0
307 QI2t01 ™ 9,000 9,000 0
02 Q2B AMAIEE =X 9,000 9,000 0
OX=ME EHBSSNA 9,000
d=AEXSUHE Ot 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 DIZHEHAFA I 2 X 5,000 5,000 0
OAEMAE EIIEFH XA 5,000
M=HMEUI EOt 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QIZ2HSHAFAIRE 2 X 5,000 5,000 0
OMd=MAE EIIBHI XA 5,000
dEYNSEUE ZIt 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QIZHSHAFAIHE 2 X 5,000 5,000 0
OZENEUSE EIHZHIX&A 5,000
DEZNESELUS 7,000 7,000 0
307 212t01 & 7,000 7,000 0
04 QI2FSHALAIE B = 7,000 7,000 0
ONdT MNEZ U MaX&A 7,000
cleg 53203 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
04 QI2tSHALAIE E &= 8,000 8,000 0
OclHE 7203 M=XA 8,000
3 &) HNEYE 520U3 6,000 6,000 0
307 212t01 & 6,000 6,000 0
04 DIZHSHAFAIRHE 2 X 6,000 6,000 0
O8I &I &g s203 Mz XA 6,000
MN=2FI20U13 M=l 200,000 200,000 0
307 212t01 & 200,000 200,000 0
04 QIZHSHAFAIE 2 X 200,000 200,000 0
oOd=2=s703 Mzl X 200,000
Hd=aAEXNA S4A dEUE A2H 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
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SN RHBBHSD

g M=
SR MSHAILHMIA (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DI2HHALALSE E X 6,000 6,000 0
OF=AEMAE S4 Z2EUHE 428 HEXZ 6,000
DTt =G 9,000 9,000 0
307 glz2tol & 9,000 9,000 0
04 QIZFHALAIH B = 9,000 9,000 0
OundzZ=t =83 HEX 9,000
=M =3 ZIOtY e S 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 QIZFHALAIH B & 12,000 12,000 0
OZM=3l ZIJIUSMU= H=X& 12,000
deg =Y I ¥ AEME dE8EA 3,000 0 3,000
307 gl2tol & 3,000 0 3,000
04 DIZHHALALSE E X 3,000 0 3,000
OZIGZSSUATUS ¥ AEMEAZHEH
= X3 3,000
dIHHA =AU S 70,000 70,000 0
< 10,000
i 60,000
307 21201 A 70,000 70,000 0
< 10,000
[ia 60,000
04 DI2ZHHALALSE E X 70,000 70,000 0
OF=EdUHIT =R MHEXH 70,000
< 10,000
e 60,000
d=dU=2E03 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
04 BI2HSH AFAF 30,000 0 30,000
o&d=¢ 30,000
HEX =2 AEER 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 212t AL 40,000 40,000 0
OsAHH AESZ0 HEAXA 40,000
HH=sa 150,000 0 150,000
307 21201 A 150,000 0 150,000
04 212t ALA 150,000 0 150,000
OSHN=U3 150,000
S &I O UHEl 3,000 0 3,000
307 gl2tol & 3,000 0 3,000
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SN RHBBHSD

g s
CHelr MSSHAMY M
5 - 4
SA - BB B () - MM - BES Ol &t o e
04 DI2HHALALSE E X 3,000 0
O8I EI| OFIHSE M=K 3,000
DEZ=ZEE == 5,000 5,000
307 glz2tol & 5,000 5,000
04 QIZFHALAIH B = 5,000 5,000
ONEZ=CHII AU SZHE =X 5,000
M= SH A& 108,000 108,000
307 21201 A 108,000 108,000
03 HAHHEES2IHIES 108,000 108,000
ongdzid=s 24X 60,000
OngdzMEM=ss 2IXH 48,000
DEZMHHSUE 44,000 44,000
< 4,000
i 40,000
307 21201 A 44,000 44,000
< 4,000
e 40,000
04 QIZFHALAIH B = 44,000 44,000
CNdZMEM=EHa M= XIS 44,000
< 4,000
[ia 40,000
JUEEMENSUHSE &t 80,000 80,000
307 21201 A 80,000 80,000
04 DIZHHALALSE E X 80,000 80,000
OCMENSUHEN EIIEH XA 80,000
SN EN =SS EOt 16,500 16,500
307 gl2tol & 16,500 16,500
04 DI2HHALALSE E X 16,500 16,500
O NMEM S EIMBHI XA 16,500
Z2Y det2E=ZUH3 8,000 8,000
307 glz2+0ol & 8,000 8,000
04 QIZFHALAIH E = 8,000 8,000
O&dd etz AKX 8,000
DEZAHOIE=SUE 5,000 5,000
307 21201 A 5,000 5,000
04 QIZFHALAIH B = 5,000 5,000
O1nd= HOIE=UE M= XI& 5,000
D=0 d) f#H2 WS 6,000 6,000
307 21201 A 6,000 6,000
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2A: 222 s
Hu: HENE
ol MSSHAMLSMA A (cho &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
04 QIZHSHAFAIE 2 X 6,000 6,000 0
ONNEZFFAEIIHI F#H2AIUE MNEIXH 6,000
DHEZAHEEIEI FH AU S 4,500 4,500 0
307 QI2t01 & 4,500 4,500 0
04 QIZF AL A2 X 4,500 4,500 0
ONHdZWAHEIIEI HH AU M=K 4,500
DEZOFPRAHE S HD| OFFLH3 6,000 6,000 0
307 212t0| & 6,000 6,000 0
04 QI2tSHALAIE E &= 6,000 6,000 0
ODNHEZOIRAHES A OFRUHE HE X 6,000
DEZHE2HLULALE 6,000 6,000 0
307 212t01 & 6,000 6,000 0
04 DIZFSHAIAIRI 2 = 6,000 6,000 0
ONdZ+tl =2HUAWUS M=K 6,000
DI ERUS 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
Ond=Ztl ER2US XA 5,000
DEZ400 BHECIEH S 6,000 6,000 0
307 QI2t0| ™ 6,000 6,000 0
04 QI2SHALAIE E = 6,000 6,000 0
ONdZtl BHESEHUS & X & 6,000
Ao NFEUI 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
04 DIZHSHAFAIRE 2 X 8,000 8,000 0
O%¥sye ANHNBUF M= X 8,000
dEME 358 s NA 17,000 17,000 0
307 212t01 & 17,000 17,000 0
04 QIZHSHAFAIHE 2 X 17,000 17,000 0
odEtils sS=EUs XA 17,000
FEAESIEI HOIE=UF 20,000 0 20,000
307 212t01 & 20,000 0 20,000
04 QIZFSHALAIE B2 X 20,000 0 20,000
OB HES &I HOE=US MNEIXH 20,000
YT XAB M=20t2tEWU S 30,000 0 30,000
307 QI2t0| ™ 30,000 0 30,000
04 QI2SHALAIE E = 30,000 0 30,000
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2N
X ZH -
L= B

el

S22 =
HEdE
=S ALR E X2

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZE ST XA A =20tetEHS = X & 30,000
ZEEXNAD MEHsE S0 25,000 0 25,000
307 glz2+ol & 25,000 0 25,000
04 QIZFHALAIH B = 25,000 0 25,000
OEXA deds S20U3 HEAX2 25,000
d= |FAad 303 60,000 60,000 0
307 21201 A 60,000 60,000 0
04 QIZFHALAIR B = 60,000 60,000 0
O&= |R44Y =203 HEXA 60,000
g MEN =S &It 8,500 7,600 900
307 2201 A 8,500 7,600 900
04 DIZHHALALSE E X 8,500 7,600 900
OZZHMHIMEMSUHS &HILBH X 8,500
degsotel=d s &t 1,000 1,000 0
307 glz2tol & 1,000 1,000 0
04 QIZFHALAIH E = 1,000 1,000 0
OZg=s0td 28 s FIotFH X 1,000
M SELs 294,112 292,632 1,480
J| 109,296
< 10,975
[ 173,841
MEHSNAE2Y 16,128 16,128 0
= 4,838
[ 11,290
307 21201 A 16,128 16,128 0
< 4,838
e 11,290
02 IAHFAANHFEX 16,128 16,128 0
OMEN=SWA2H 16,128
< 4,838
i 11,290
MEHsZ20Y 9,792 9,792 0
< 2,937
s 6,855
307 21201 A 9,792 9,792 0
< 2,937
i 6,855
02 It S AIHE L 9,792 9,792 0
Oz oldsnazd 3,168
< 950
i 2,218
OFAEHNANEEZY 3,168
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Hel: dadsgds (Sl & &)
SA - BB B () - MM - BES Ol &t o San HmEET
< 950
s 2,218
o¥=HMsUs2d 3,456
< 1,037
s 2,419
MEMNSX XX (EX) 145,728 145,728 0
J| 72,864
[ia 72,864
307 21201 A 145,728 145,728 0
J| 72,864
i 72,864
02 QB AANGFEX 145,728 145,728 0
OgetME XAt b X 145,728
J| 72,864
s 72,864
MEHMSXNESX S2SK2(XHHA) 28,800 28,800 0
307 21201 A 28,800 28,800 0
02 It S AIHE L 28,800 28,800 0
OYBtMEH SN A 2=XH 28,800
HEAUMEMNSXA HXI(EX) 72,864 72,864 0
J| 36,432
s 36,432
307 glz2tol & 72,864 72,864 0
J| 36,432
s 36,432
02 It M AHEE 72,864 72,864 0
ONZAMEH SIS HHX 72,864
J| 36,432
[ia 36,432
HEAUMEMSXNCSX SS X2 (XA 14,400 14,400 0
307 21201 A 14,400 14,400 0
02 LB AANFEX 14,400 14,400 0
oMM ENSNEX ESXE 14,400
LM ESOotel K& 6,400 4,920 1,480
< 3,200
s 3,200
307 21201 A 6,400 4,920 1,480
= 3,200
[ia 3,200
02 It S AIHE L 6,400 4,920 1,480
OZOHQ X =S0tel K& 6,400
< 3,200
e 3,200
HMEsdstAd 154,477 358,870 A 204,393
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el MESsdaAY )
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Jl 18,534
= 2,383
= 133,560
HEMERSAHEE 2,000 2,000 0
301 et d = 2,000 2,000 0
NMJIEEd=s 2,000 2,000 0
OMSTNERSNH HFE 100,000& 10 1,000
OWHNERSA HF 100,000& =10 1,000
DESAHFRER2S 12,000 12,000 0
307 21201 A 12,000 12,000 0
02 IZtE S AHE L 12,000 12,000 0
OnNdRAY OIE 2IX&A 12,000
AZE2AN 0IEA ALY 26,477 23,870 2,607
Jl 18,534
< 2,383
i 5,560
307 glz2tol & 26,477 23,870 2,607
J| 18,534
< 2,383
s 5,560
02 It HAHEE 26,477 23,870 2,607
OAEZ=2A 0|83 MY 26,477
J| 18,534
< 2,383
[ia 5,560
issUesd 24,000 0 24,000
307 21201 A 24,000 0 24,000
02 QB HAANGFEX 24,000 0 24,000
OM=xaURSLEXNE 24,000
MEIMe X 90,000 0 90,000
307 21201 A 90,000 0 90,000
02 It S AHE L 90,000 0 90,000
OMsEgaMHy XA 90,000
HMSIIEtAIZ & E ALY 2,732,000 1,963,000 769,000
Xl 507,000
s 2,225,000
HSAEA 812,000 364,000 448,000
401 Al HI R 201 I 812,000 364,000 448,000
01 A& HI 810,000 364,000 446,000
OAX=EIR(ERE) ZHEH &X 500,000
OZe2sd 28 &5 MHE+= AME 20,000
OAEZZEIR(ERE) RA B 100,000

_29_




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
OMN&EH AHOEESFE AXEC £X 30,000
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OU= AHOIE=ZE XL &X 50,000
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03 Al 2 THHI 2,000 0 2,000
OAIE = HHI 2,000
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Xl 280,000
s 460,000
NSEE HEAY 930,000 0 930,000
Xl 227,000
[ia 703,000
401 AIEHI L 20 930,000 0 930,000
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01 A& HI 930,000 0 930,000
ONEZMNEEUE ALY 930,000
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e 703,000
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OoJlzs 48,2403 x2H 250 24,120
ORsS5gsE 48,2403 x2H x522 5,017
ORSsIt=g 48,2403 x2H « 11 1,062
Ose2=RE 48,240 »2H «522 x1.5 7,526
C42Eg= 4,637
— =S EE= 37,725,000& *4.5% 1,698
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OMSALSFLI LA
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401 AIEBI L 2 CHEI 60,000 225,000 A 165,000
01 A€ Hl 60,000 225,000 A 165,000
Ox72 823717 014 & |2+ 50,000
Oosg=sd dAL0 22| 10,000
S HSHH 2 822,275 533,430 288,845

EMsdEHZ2Y 807,375 518,530 288,845
101 Q124 4] 201,104 182,259 18,845
04 DIt Z22XsSE* 201,104 182,259 18,845

OFstHsdH 2222 110,633
OoJle= 48,2403 x5 +2502 60,300
OF = 48,2403 x5 x52& 12,543
ORsS7It=g 48,2403 x5H x 112 2,654
Osg2*2=+8 48,2403 x5 x52& x1.5 18,814
OZXA 2 At g

7,000 5«10 122 4,200
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—UHasSEEE 98,511,000& 4.5% 4,433
— AL EEE 98,511,000& *3. 1% 3,054
—HJRYEE= 3,054,000 *6.55% 201
—MHEER 98,511,000 3. 1% 3,054
SR === 98,511,000 *1.4% 1,380

O=S LA A2 80,068
OoJle= 56,3203 x2H +2502 28,160
odn= 28,160,000& »4/12& 9,387
ORsS5d+g 56,3203 x2H 522 5,858
ORs8xFit+g 56,320 x2H x11& 1,240
Osgz22=+8 56,3203 «2H 522 1.5 8,786
O= &l 3,960
OztAH| 2,750
OAZtAZ22Z 10,5603 x2H *44A1 2+ + 123 11,152
O4tHE2 & 8,775
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— AL LES 71,293,000 3. 1% 2,211
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—MHEER 71,293,000 *3. 1% 2,211
—1EEER 71,293,000& *1.4% 999
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